(Q) g) a A8 Multiplica decimales por potencias negativas de diez

Nombre: Fecha: Puntuacion:
5756,3 x 0.01 = 1632,6 x 0.01 =
6274,8 x 0.1 = 2753,1x0.01 =
8507,2x0.1 = 2493,6 x 0.1 =
7028, 8 x 0.001 = 2192,5x0.0001 =
5618,3x0.1 = 8668, 1 % 0.01 =
2832 x 0.1 = 4128,5 x0.001 =
8368, 6 < 0.0001 = 1555 % 0.1 =
4141,9 % 0.1 = 9237,2 x0.001 =
8026 x 0.001 = 8686,9 x 0.1 =
9622, 8 x 0.0001 = 3365, 1 x 0.0001 =
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Multiplica decimales por potencias negativas de diez

Nombre: Fecha: Puntuacion:
5756,3 x 0.01 = 57.563 1632,6 x 0.01 = 16.326
6274,8 x 0.1 = 627.48 2753,1x0.01 =27.531
8507,2 x 0.1 = 850.72 2493,6 x 0.1 = 249.36
7028, 8 x 0.001 = 7.0288 2192,5x0.0001 = 0.21925
5618,3 x 0.1 =561.83 8608, 1 x 0.01 = 86.681
2832 x 0.1 = 283.2 4128,5 % 0.001 = 4.1285
8368, 6 x 0.0001 = 0.83686 1555 x 0.1 = 155.5
4141,9 x 0.1 =414.19 9237,2 x0.001 = 9.2372
8026 x 0.001 = 8.026 8686,9 % 0.1 = 868.69
9622, 8 x 0.0001 = 0.96228 3365,1 x0.0001 = 0.33651
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